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—=tL 2 AE EEE S ME
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160,000 163 2,560
02 2224l 360 280 80
OBM0} QS S QHYRE
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01 22¥¢+=H| 7,000 10,206 A3,206
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6,250 +800H 5,000
ORXEAHAY 2ARE S 2,000
oSN oj2H| Y morette| X (¢etxt o2 X 378,600 315,816 62,784
JEZA ) (HEHAIY)
Al 283,950
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307 212+01™ 378,600 315,816 62,784
Al 283,950
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Al 283,950
- 94,650
LEA olEHl L THorze| X (THOERE 2tel)( 10,000 22,764 A12,764
SRAY) (HEALY)
Al 7,500
- 2,500
201 Ler23| 2,500 9.916 AT,416
Al 1,875
- 625
01 AtR2t2|HI 2,500 9,916 AT,416
O1.2e+=8Hl 2,500
—S2= MH 2,000 *1,0000H 2,000
Al 1,500
- 500
—usk=s MY S X208 28
500,000& 12 500
Al 375
- 125
307 @I2t0| & 7,500 12,848 N5,348
Al 5,625
- 1,875
01 22X 2| 7,500 12,848 A5,348
OMIt ekt &2 S 7,500
—& A 15,0002 *100S 1,500
Al 1,125
- 375
—& ILA0l S 25,0003 1408t A 3,500
Al 2,625
T 875
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Al 1,875
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Al 5,400
- 5,400
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Og22tS A EE 0|
200,000 x0E ~12& 21,600
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—IA, 853 S ARARSE
5002 18, 720H 9,360
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~XHOl S PEP N
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Al 7,500
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—FHAANS HEE Az5=3 A& 35,036
[ 17,518
Al 8,759
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OFSA2HEH 2H(2XAY) 151,000 131,600 19,400
Al 75,500
- 75,500
201 fer= 3| 41,380 40,380 1,000
Al 20,690
- 20,690
01 At22t2lt] 40,900 39,900 1,000
O1.2et=8H| 30,900
—0I=d3dH 29 & 822 S 7€ 26,406
Al 13,203
- 13,203
—OISHLXZAN 2823 728 S 4,494
Al 2,247
- 2,247
os.2g8=+¢ 10,000
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Al 240
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202 04t 6,720 6,720 0
Al 3,360
- 3,360
01 2L AL 6,720 6,720 0
OozuU &0 6,720
—a" 2SA 140,000 x4 x 122 6,720
Al 3,360
- 3,360
203 HR=H| 1,000 1,000 0
Al 500
- 500
03 A= PR F&IH| 1,000 1,000 0
Olts22de 29 2tg3l S 1,000
Al 500
- 500
301 22N 82,200 71,500 10,700
Al 41,100
- 41,100
11 dALEEIXIZE S 6,500 5,000 1,500
OAIE, d1Hal S 6,500
—Oi=d2dH 40tz
1,000,000 #5704 2 5,000
Al 2,500
- 2,500
—93& S 300,000 *50H A 1,500
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14 IIEt2 83 75,700 66,500 9,200
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- 1,600
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- 33,000
Ol A g3+
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- 31,440
201 et 3| 214,850 214,850 0
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- 21,485
01 AtR2t2|HI 201,645 199,207 2,438
O1.¢et+=EH| 109,534
—gd8 € JE 2208 29
50,000& #4202 21,000
Jl 16,800
Al 2,100
- 2,100
—X0HoEY & eIXZstua 23
50,000 1302 6,500
Il 5,200
Al 650
- 650
—eXgs us & ULl 7Y S
30,0003 x450H 13,500
Il 10,800
Al 1,350
- 1,350
—HESAK QM K AHUHE ME S
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— Xt HlE 222 728 S 8,150
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343,000 x 122/« 12& 49,392
Il 39,514
Al 4,939
- 4,939
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— Xt dlE M50 5
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J| 720
Al 0
- D
O6.dxt= 10,369
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Il 1,259
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—&=J| 32,0003 =201 =128 768
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Al w7
T 7
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Il 7,200
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Jl 2,400
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O4. xteH 2| 1,205
— X R 1,205
) 965
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202 04t 18,000 18,000 0
Jl 14,400
Al 1,800
T 1,800
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Al 50
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